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GCSE HISTORY COMPONENT 1 (STUDIES D)

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 234 2.2 0.9 4 53.8 98.3

2 231 3 1.7 8 37.1 97.1

3 227 3.9 2.2 12 32.6 95.4

4 212 2.4 1.8 10 23.9 89.1

5 222 3.5 2.5 16 22.1 93.3

SPaG 222 1.7 0.7 3 56.9 93.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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QUESTION 4


Explain the connections between TWO of the following that are to do with political and economic
problems in the 1970s.	 [10]


	 •	 Industrial decline
	 •	 Edward Heath
	 •	 The three day week
	 •	 Miners’ strike 1974


Issues chosen:                                                         and                                                       
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Question 5 


 
Mark allocation: AO1 (b) AO2 AO3 AO4(a-d) SPaG 


19 4   12 3 


 


Question:  How far do you agree with this interpretation of 
changing attitudes towards authority during this period?
 [16+3] 


 


Band descriptors and mark allocations 
 


 AO1(b)  4 marks AO4 (a-d)  12 marks 


BAND 4 
 


Demonstrates very detailed 
understanding of the key 
feature in the question. 


4 Fully analyses and evaluates 
how and why interpretations of 
this issue differ, 
demonstrating awareness of 
the wider historical debate 
over the issue. A well 
substantiated judgement about 
the accuracy of the 
interpretation is reached, set 
within the context of the 
historical events studied. The 
relevance of the authorship of 
the interpretation is discussed. 


10-12 


BAND 3 
 


Demonstrates detailed 
understanding of the key 
feature in the question. 


3 Analyses and evaluates how 
and why interpretations of this 
issue differ. Some 
understanding of the wider 
historical debate over the 
issue is displayed. A clear 
judgement is reached, 
displaying understanding of 
how and why interpretations of 
the issue may differ. 
Appropriate reference is made 
to the authorship.  


7-9 


BAND 2 
 


Demonstrates some 
understanding of the key 
feature in the question. 


2 Some analysis and evaluation 
of the interpretation and other 
interpretations is displayed. A 
judgement is reached with 
superficial reference made to 
authorship. 


4-6 


BAND 1 
 


Demonstrates basic 
understanding of the key 
feature in the question. 


1 Makes simple comments about 
the interpretation with little 
analysis or evaluation. Little or 
no judgement reached. 


1-3 


 


Use 0 for incorrect or irrelevant answers. 
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Indicative content 
 


This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


 the interpretation of the author is that people began to question authority during the 
1960s; to an extent this interpretation accurately reflects the changes in attitude that took 
place during this period; 


 the interpretation would be based on the fact that many challenged the right of the old 
‘establishment’ to make decisions for the country; 


 deference had been increasingly in decline since the end of the war; a number of 
scandals in the 1950s and 1960s hastened the change in attitudes; for example, spy 
scandals involving people such as Burgess, Maclean and Philby; 


 the change in attitude was exemplified by the Profumo Affair; as the interpretation 
suggests, these undermined public trust in politicians; 


 to an extent therefore, the result of the Profumo scandal, with the resignation of Profumo 
and the details released by the media, gives credence to the interpretation; 


 the increase in satire also reflected the changing attitudes towards authority as did 
campaigns against issues such as nuclear weapons led by CND and radical protests 
against American involvement in Vietnam; 


 candidates may assert that the author is not an historian and is writing in a general 
article on 1960s Britain; although research would have taken place the article is directed 
at a non-specialist audience;  


 the fact that the interpretation is on a tourist website may have a bearing on its accuracy; 


 it may be possible to arrive at different interpretations regarding changing attitudes 
towards authority; 


 attitudes began to change earlier in areas such as music, culture and satire; 


 the prominence given to challenges to authority may be a rather narrow view; large 
sections of society were conservative in their attitudes and therefore prominent 
challenges and the changing attitudes of some may not have reflected wider society at 
large; 


 other interpretations may suggest therefore that attitudes towards authority did not 
radically change during the period; 


 it should be viewed as part of the wider historical debate over the issue which includes a 
range of different interpretations. 
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After awarding a band and a mark for the response, apply the performance descriptors for 
spelling, punctuation and the accurate use of grammar (SPaG) and specialist terms that 
follow. 
 
In applying these performance descriptors: 
- learners may only receive SPaG marks for responses that are in the context of the 


demands of the question; that is, where learners have made a genuine attempt to 
answer the question 


- the allocation of SPaG marks should take into account the level of the qualification. 
 


Band Marks Performance descriptions 


High 3  Learners spell and punctuate with consistent accuracy 


 Learners use rules of grammar with effective control of 
meaning overall 


 Learners use a wide range of specialist terms as appropriate 


Intermediate 


 


2   Learners spell and punctuate with considerable accuracy 


 Learners use rules of grammar with general control of 
meaning overall 


 Learners use a good range of specialist terms as appropriate 


Threshold 


 


1  Learners spell and punctuate with reasonable accuracy 


 Learners use rules of grammar with some control of meaning 
and any errors do not significantly hinder meaning overall  


 Learners use a limited range of specialist terms as appropriate 


 


 


0  The learner writes nothing 


 The learner’s response does not relate to the question 


 The learner’s achievement in SPaG does not reach the 
threshold performance level, for example errors in spelling, 
punctuation and grammar severely hinder meaning 


 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
C100UD0-1 Eduqas GCSE History - Component 1 MS S18/DM 












Sticky Note

The candidate does not distinguish between a source and an interpretation.



Sticky Note

A judgement is provided and is reasonably well supported by accurate AO1 in the next two paragraphs.







Sticky Note

The answer begins to lose focus here and drifts into different aspects of the course.



Sticky Note

AO1 Band 4 - the response displays just enough detailed knowledge and understanding to justify Band 4.
AO4 high Band 2 - there is some analysis of the interpretation with an associated judgement; however, there is only a passing reference to the authorship and none to the audience; understanding of how and why historical interpretations may differ has not been demonstrated.












 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








10


(C100UD0-1)


Examiner
only


© WJEC CBAC Ltd.


QUESTION 5


Read the interpretation below and then answer the question which follows.


People began to challenge and question authority, something that would have been unheard 
of a decade before. The Profumo Affair changed the relationship between government and 
press forever and seriously undermined the public’s trust in politicians. Traditional respect of 
authority was replaced by suspicion and mistrust.


[Kimberley Watson, in an article entitled The 1960s: The Decade that Shook Britain, 
published on the tourist website Historic UK in 2015]


How far do you agree with this interpretation of changing attitudes towards authority during this
period?			  [16]


[In your answer you should refer to how and why interpretations of this issue differ. Use your own
knowledge and understanding of the wider historical debate over this issue to reach a well-supported
judgement.]


Marks for spelling, punctuation and the accurate use of grammar and specialist terms are allocated
to this question.	 [3]
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MARK SCHEME SUMMER 2018 
 


Component 1: BRITISH STUDY IN DEPTH 
 


1D: Austerity, Affluence and Discontent: Britain, 1951-1979 


 
Question 1 


 
Mark allocation: AO1 AO2 AO3 (a) AO4 


4   4  


  


Question:   What can be learnt from Sources A and B about the main 
issues facing the people of Britain in the early 1950s? [4] 


 
Band descriptors and mark allocations 
 


 AO3(a)  4 marks 
 


BAND 2 
 


Analyses and uses the content of both sources for the enquiry.  
If answer is imbalanced in use of sources award 3 marks. 
 


3-4 


BAND 1 
 


Generalised answer with little analysis, paraphrasing or describing 
sources only. 


1-2 


 
 


Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


 Sources A and B show that the British people faced problems in the early 1950s; 


 Source A shows how the cost of social services had increased since the war by 35% and 
was becoming unaffordable; 


 the increase was faster than the rise in national income; 


 as a result the country was facing balance of payments problems and a decrease in the 
value of the currency; 


 Source B shows the dilapidated state of housing in 1951; housing that had clearly not 
been improved, even after the war; 


 the source depicts wasteland and buildings that are in clear need of demolition or repair; 
the source therefore reflects the housing conditions that were prevalent in the post-war 
years.  


  
















Sticky Note

Relatively little extraction from the sources - basically one point from each. 



Sticky Note

AO3 Band 1 - generalised answer with little analysis; needed to be related to the main issue in the question.
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Answer all questions.


QUESTION 1


Study the sources below and then answer the question which follows.


Source A


When we came into office in November 1951, we took over the expanded social services 
which had been provided by the war-time and post-war governments. We got through the 
financial crisis without cuts to these services. However, the cost has grown enormously, by 
about 35 per cent, greater than the rise in national income. The result is continuing balance 
of payments trouble and a fall in the value of our money.


[A government memorandum on the increased cost of social services (July 1955)]


Source B


[A photograph of children playing behind flats in London in 1951]
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What can be learnt from Sources A and B about the main issues facing the people of Britain in the
early 1950s?	 [4]
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Question 2  
 
Mark allocation: AO1 (b) AO2 AO3 (a+b) AO4 


8 2  6  


 


Question:  To what extent does this source accurately reflect the 
economic recovery of the 1950s? [8] 


 
Band descriptors and mark allocations 
 


 AO1(b) 2 marks  AO3 (a+b) 6 marks 


   BAND 3 
 


Analyses and evaluates the 
accuracy of the source, set 
within the context of the 
historical events studied. The 
strengths and limitations of the 
source material are fully 
addressed and a substantiated 
judgement is reached.  


5-6 


BAND 2 
 


Demonstrates 
detailed 
understanding of 
the key feature in 
the question. 


2 BAND 2 
 


Begins to analyse and evaluate 
the source. A judgement, with 
some support is reached, 
discussing the accuracy of the 
source material set within the 
historical context. 


3-4 


BAND 1 
 


Demonstrates some 
understanding of 
the key feature in 
the question. 


1 BAND 1 
 


Very basic judgement reached 
about the source with little or 
no analysis or evaluation. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material identified 
below. Some of the issues to consider are:  
 


 the source is partially accurate as it reflects the fact that austerity had ended and Britain was in a 
period of economic recovery; 


 this is also partially accurate as MacMillan states ‘most of the people’ which implies the economic 
recovery was not universal; 


 the source is supported by the fact that Britain was still a powerful economic power and that 
demand for products grew during the 1950s as countries recovered from the war; 


 by the end of the 1950s Britain had a higher income per head than anywhere apart from the USA; 


 wages had risen and taxes had fallen, leading to an improvement in living standards; hire 
purchase had expanded and credit was becoming easier to access; 


 the result was an expansion in the availability of consumer goods; 


 however, the accuracy of the source is affected by the fact that MacMillan would clearly portray 
the recovery in this light; 


 since it is a speech to a Conservative rally it is designed to appeal to its audience; 


 candidates may additionally conclude that some people did not benefit, which is only briefly 
acknowledged by MacMillan; 


 old age pensioners did not benefit as inflation increased; the unemployed struggled to survive on 
welfare payments; some wages were low and not everyone could enjoy the benefits of 
consumerism.  












Sticky Note

The candidate immediately provides a judgement with some relevant contextual support.







Sticky Note

However, whilst the candidate demonstrates good subject knowledge, there is no discussion of the authorship or audience. Similarly, no counter-argument is provided, therefore the strengths and limitations of the source have not been addressed.



Sticky Note

AO1 Band 2 - detailed understanding of the key feature in the question demonstrated.
AO3 low Band 2 - begins to analyse the source material and provides a judgement set within the historical context; no development of authorship however.












 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








4


(C100UD0-1)


Examiner
only


© WJEC CBAC Ltd.


QUESTION 2


Study the source below and then answer the question which follows.


Source C


Let us be frank about it – most of our people have never had it so good. Go around the 
country, go to the industrial towns and you will see a state of prosperity such as we have 
never had in my lifetime – nor indeed in the history of this country.


[Prime Minister Harold Macmillan, in a speech to a Conservative Party meeting, 
20 July 1957]


To what extent does this source accurately reflect the economic recovery of the 1950s?	 [8]


[In your answer you should refer to the strengths and limitations of the source and use your own
knowledge and understanding of the historical context.]
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Question 3  


 
Mark allocation: AO1 (a+b) AO2 AO3 AO4 


12 4 8   


 


Question:  Why was immigration a significant issue in British 
society during this period? [12] 


 
Band descriptors and mark allocations 
 


 AO1(a+b) 4 marks AO2 8 marks 


BAND 4 
 


Demonstrates very detailed 
knowledge and understanding 
of the key feature in the 
question. 


4 Fully explains the significance of 
the identified issue. A fully 
reasoned and well supported 
judgement is reached, set within 
the relevant historical context. 


7-8 


BAND 3 
 


Demonstrates detailed 
knowledge and understanding 
of the key feature in the 
question. 


3 Explains the significance of the 
identified issue. The answer 
reaches a supported judgement, 
set within the historical context. 


5-6 


BAND 2 
 


Demonstrates some 
knowledge and understanding 
of the key feature in the 
question. 


2 Begins to explain the significance 
of the identified issue, 
culminating in a weakly 
supported judgement. 


3-4 


BAND 1 
 


Demonstrates basic 
knowledge and understanding 
of the key feature in the 
question. 


1 A basic, unsupported explanation 
is provided regarding 
significance. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material identified 
below. Some of the issues to consider are:  
 


 immigration was an extremely significant issue in British society during this period; it reshaped 
British society and had enormous political, social and cultural effects; 


 the 1948 British Nationality Act had introduced common citizenship rights for everyone living in 
the UK and Commonwealth; this led to a dramatic increase in immigration;  


 one example was the SS Empire Windrush, which brought West Indian immigrants to the UK, 
attracted by the offer of work, improved living standards and a common language, among other 
factors; 


 Asian immigration also increased during this period as people left former Empire countries; 


 the influx was significant as the UK needed cheap labour for the post-war reconstruction; 
immigrants played a significant role in driving the recovery of the 1950s; 


 however, the issue was also significant as it caused considerable tension among many sections 
of British society; this resulted in increasing restrictions, for example the 1962 Commonwealth 
Immigration Act; 


 the tensions spilled over into violence, such as the 1958 Notting Hill race riots where there were 
three days of violence against immigrants; 


 the tensions were also reflected in politics, such as in Enoch Powell’s ‘Rivers of Blood’ speech in 
1968; 


 immigration continued to be a very significant issue up to the end of the period; Race Relations 
Acts were brought in to reduce discrimination, although significant problems still remained; 


 despite the tensions created, immigration had some positive economic and cultural effects on 
British society, for example, in music and culinary tastes.   












Sticky Note

The candidate displays some relevant knowledge and understanding of the key feature in the question, for example, by referring to the Notting Hill riots.



Sticky Note

Reference is made to the issue of 'significance', but this is not developed. The judgement is therefore weakly supported.







Sticky Note

AO1 Band 2 - demonstrates some knowledge and understanding, but further development and exemplification needed.
AO2 low Band 2 - begins to explain the significance of the identified issue, but there is relatively little further development.
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QUESTION 3


Why was immigration a significant issue in British society during this period?	 [12]
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Question 4 
 


Mark allocation: AO1 (a+b) AO2 AO3 AO4 


10 2 8   
 


Question:   Explain the connections between TWO of the following 
that are to do with political and economic problems in the 
1970s.  [10] 


 


Band descriptors and mark allocations 
 


 AO1(a+b)  2 marks AO2  8 marks 


    
BAND 4 
 
 


Fully explains the relevant 
connections between the 
chosen features, set within 
the correct historical 
context. 


7-8 


   BAND 3 
 


Explains the connections 
between the chosen 
features, set within the 
correct historical context. 


5-6 


BAND 2 
 


Demonstrates 
detailed knowledge 
and understanding 
of the key features 
in the question. 


2 BAND 2 
 


Begins to explain the 
connections between the 
chosen features. 


3-4 


BAND 1 
 


Demonstrates some 
knowledge and 
understanding of 
the key features in 
the question. 


1 BAND 1 
 


A basic, unsupported 
explanation of connections 
between the chosen 
features. 


1-2 


 


Use 0 for incorrect or irrelevant answers. 
 


Indicative content 
 


This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


All the historical features mentioned in the question are inter-related; connections identified may 
include: 
 


 industrial decline is connected to Edward Heath as it was during his premiership that long 
term problems in British industry began to fully manifest themselves; productivity had fallen 
badly, for example due to outdated production methods and excess labour; inflation led to 
increased pay demands which Heath was reluctant to agree to as they would in turn feed 
inflation; 


 the three day week is connected to industrial decline and Edward Heath as by late 1973 the 
relationship between the government and the trade unions reached crisis point; from 
November 1973, the miners, electricity power engineers and then train drivers began 
overtime bans; with oil supplies restricted and a lack of coal, Heath imposed the three day 
week in January 1974 that ran to March the same year; 


 the Miners’ strike 1974 was connected to the other issues as industrial relations caused by 
decline continued to deteriorate; the miners had seen the impact their actions could have in 
1972 and during the three day week in January 1974 the miners, led by the militant NUM 
voted in favour of strike action; the result prompted Heath to call a general election using the 
slogan ‘Who governs Britain’ which resulted in eventual defeat for Heath, who lost the 
Conservative majority in Parliament. 


  












Sticky Note

The candidate does not establish the correct historical context and is probably referring to the 1980s here - beyond the scope of the course.



Sticky Note

Some relevant understanding is displayed here, although it is not developed; no clear connections are made between the chosen features.







Sticky Note

AO1 no marks awarded - the historical context has not been accurately established.
AO2 Band 1 - a basic, unsupported explanation; connections are implied rather than explicit.











